M3-R5 - URITHT TS WiseTH Wifea T g U Tivast
M3-R5 : PROGRAMMING AND PROBLEM SOLVING THROUGH PYTHON

LANGUAGE
Im|fy : 03 " StfereRan 31 : 100
DURATION : 03 Hours MAXIMUM MARKS:100
SNTHINR viiE H. :
OMR Sheet No.:
AT, . SeR-Yfee . :
Roll No. : Answer Sheet No.:
wiremelt T A ¢ Tremelt o TETer
Name of Candidate : ;Signature of Candidate :
ﬂ'ﬁ'&iTF of it o fﬁq ﬁi‘ST : Instructions for Candidate:

FUAT TTA-GehT, STTHSR M T Sa-GRehl 7 T3 T
el o1 emgdes Ug |

Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T4 HISA/ TR F § W E | W T H =R T 3R 9
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There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uek ' Ihfeush '’ YRR 1§ FEeh T i 40 § qen
YT &1 AR YRR AT 7 SR 3T Fd 31 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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B T S T WG], WNT Tek i ST-YReaaht STHT
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HIT Teh / PART ONE

(T Y9 o ST € / Answer all the questions)

1.

1.1

1.2

rer Ueieh U9 % I % o faehen fan e ¥
Teh Had SUFeR faened < 3TN 30 U9 U ok
T JURN I T " S AR
, 3aH fou T fdetl o 217w, et &l

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein.

frefotea wdie v § ; (1x10)

ot

IEEEEEIEENE
(©) FTge/3ArSIqe
(D) ST HIS &

The following symbol represent :

(A)
(B

) Decision

) Initialization

) Input/Output

) None of Mentioned

STl Weh WAIeH Teh WIHT Ao < &9 4 feran
S €, @ A TH & ST B

(A) TR

(B) W™

(C) EES

(D) ar-fa=ma

When an algorithm is written in the form
of a programming language, it becomes a :
(A) Flowchart

(B) Program

(C) Pseudo code

(D) Syntax

EGEE

1.3

1.4

1.5

wyA # frfafad 9§ 4 ®F @1 T Hes
T E?

(A) eval

(B) assert

(C) nonlocal

(D) pass

Which of the following is not a keyword
in Python ?

(A) eval

(B) assert

(C) nonlocal

(D) pass

frrefafed stfeafad # fore s S=aan faeisd
@7

(A) =TI

(B) A

(©) T™

(D) Y HISh

Which one of the following has the highest
precedence in the expression ?

(A) Exponential

(B) Addition

(C) Multiplication

(D) Parentheses

e & aR § Frefated § 9w | e g ?

(A) e T el TR <l T il ©

(B) 3H IMEM ¥ C, C++, COM, ActiveX,
CORBA 3R Java % 919 Tehighd foha
T R §

(C) ST Sl

(D) I H 9 hIE &l

Which of the following is correct about

Python ?

(A) It supports automatic garbage
collection.

(B) It can be easily integrated with C,
C++, COM, ActiveX, CORBA, and
Java.

Both of the above.
None of the above.
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1.6 9¥Y" & fau fA=fafea @ @ w19 @

1.7

TR S AU Y9 ST ahl I8 adTdl
&, T T T A g sl T A wEdl
1 el LTid HET § 2

RIECEEI)
(B) URBATRIEST
EIEDEERCETIED
RIEREE

Which of the following environment
variable for Python tells the Python
interpreter where to locate the module files
imported into a program ?

(D)

(A) PYTHONPATH
(B) PYTHONSTARTUP
©)

(D) PYTHONHOME

PYTHONCASEOK

e H frafafed § § ®F | € gER

TS Tl o Sian § 2

(D)

Which of the following data types is not
supported in python ?

A) Numbers

1.8 fr=fafea § 9 fesm &1 F 91 HRE

1.9

it ofar et | U el € 2

(A) getkeys()

(B) key()

(€)  keys()

(D) W B T

Which of the following function of

dictionary gets all the keys from the
dictionary ?

(A) getkeys()
(B) key()

(©)  keys()
(D)

D) none of the mentioned

YA H ARIETd shierS w1 =FH Y ?
(A)
(B) raise

(©) import

(D) Ul |t

Select the reserved keyword in python :
(A)

else

else

(B) raise

(©) import

(D) All of the mentioned

1.10 w9 9 HUT TEI & ?

(A) fawe uwfiadasia € v gua

STafedee &

(B) fare sufiadasia 2 oy gua
RICRENIGES

(C) faw iR Toa 31 uiedwia €

(D) T iR Zoa <M sTafEdend §

Which statement is correct ?

(A)

List is mutable & Tuple is immutable.
(B) Listisimmutable & Tuple is mutable.
(C) Both List and Tuple are Mutable.

(D) Both List and Tuple are Immutable.
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

=t feam e weres faeroT o | W@ ¥ sterEn
T | Ueh Had SUe faehed g 3 59
Y9 U ok |l SUCT&] il T ' 3TuHST '
IR ek W, Sad fou g fEen & e e
kol (1x10)
S foqM H, THNREH T THE & FHIYM
& foTu SR gR WA & A T s
fafy =t wefiia a8

g off TIIReR T UM B

ATESfCHIZeR o 91 Faer Hid THT TFeH
Y ddifea 71

TfordtE giEre T fT W foRd s Tehd )

Sired 3R S 1 Tk & gedr ®R R

T int(x) 1 319 T fof ARwee x qorier
T Fgel Wl § |

values () TSR &1 T M S e
Y el SIS I T T |

qﬁﬂ?ﬁﬁ@@if—elseﬁﬁaﬂqﬁaﬁﬁ'}%

T8 H unichr(x) HeRH Teh qulfeh i TR
fgn o uftafda s ©1

qEYd H frozenset(s) %M T9¢d % THh
3TsRH 1 Tl # uftafdd e g1

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the “OMR” answer sheet
supplied with the question paper,

following instructions therein.
(1x10)
In computer science, algorithm refers to a

special method usable by a computer for
the solution to a problem.

Any algorithm is a program.

Python is case sensitive when dealing with
identifiers.

Mathematical operations be

performed on a string.

can

Addition and Subtraction has the same
precedence level.

The expression int(x) implies that the
variable x is converted to integer.

values () is a function of dictionary gets all
the values from the dictionary.

nested if-else are allowed in Python.

unichr(x)function convert an integer to
octal string in python.

2.10 frozenset(s)function convert a sequence of

tuples to dictionary in python.
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3. Rt X ¥ feu U wisdl oiR arernt <kt fae, wiem Y ® fau T frenean wwifia et/ vredly
Rl | w1 IR faehen o o o |y fqU T ¢ sfimHe Tt ST ek H, 3eH fqu T

T T UTETT A EY, T AN (1x10)
X Y
I T o1 § (Y A1 A B Tkl §), 3R ST S S oA
3.1 |filter() (A) | 3SEeH o STER | el ol Thal hidl &, 3IR TUeH ol Teh TR
e
32 () | (B) [ & wh ok e fig 1 et H oee S e
3.3 |strip() (C) |WoT = eiteh S 21 AT TTUMT o TR0l & Ty SuainT fohan ar &
Teh Sec] % dcdl © Teh Sede ohl THHI01 ohidl & ey Toh e &t
3.4 |Isalnum() (D)
RO <l |
3.5 |list() (B) |21 392 3R TSeye & fau el = # Suant fhan S &
_ RIZF % $-ToeetheheM ol START Weh T2 | Teft W@ AR ST
3.6 |Algorithm | (F) .
o IFi Al g2H o o foran St g1
3.7 |bin() (G) |t Tl =R o =R AR U
T TARY Sffeske AT 8 ST 1 (R, €M, ) §R i< Feehiehi
3.8 [getcwd() (H)
% Y 1 wfaffEe e )
faftr A Tt wieToT Ufshan AT SUANT ik Teh M ol fera (T
ol o et ) T uRafdd e B
3.10 |zip() g) | fou e quiss & sTeRt Toqe g o ufRafid @R TRgd R g
© faferee Fcel o1 T =RUEG T W Si fohdt T < 31d a1 FHEm
o | B B &
- It fig § weft oot sretriier (SviHen et ) ¥ @ fafy wd
RO <t ¥ 1 A T, o TS T IRem <t B
(M) |Bere ST odHM HrEisiel SRy o YeiRid i B
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3.  Match words and phrases in column X with the closest related meaning/word(s)/phrase(s)
in column Y. Enter your selection in the “OMR” answer sheet supplied with the question

paper, following instructions therein. (1x10)
X Y
It take iterables (can be zero or more), makes iterator that
3.1 |filter() (A) |aggregates elements based on the iterables passed, and returns an
iterator of tuples.
3.2 (:) (B) [A function converts a string to a list in python.
33 [strip() C flow chart symbol that is used for processing of data or
3 |stri
P © calculations
3.4 [Isalnum() D constructs an iterator from elements of an iterable for which a
4 |Isalnum
) function returns true.
3.5 |list() (E) |used in flow chart for input and output of data
3.6 |Aloorith in-built function of Python is used to remove all the leading and
. orithm
S ®) trailing spaces from a string.
3.7 |bin() (G) |start and end of a flow chart.
3.8 tewd() q creates a slice object representing the set of indices specified by
. etcw
8 (H) range(start, stop, step).
method converts a value to Boolean (true or false) using the
3.9 I
I:I @ standard truth testing procedure.
. converts and returns the binary equivalent string of a given
3.10
zip() 0 mteger.
© an explicit set of step by step specific instructions that solve a
problem with an end or a solution.
L method returns true if all characters in the string are
@ alphanumeric (either alphabets or numbers). If not, it returns false.
(M) [Method displays the current working directory
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4. O v TR B &t TS G W Ueh YIsg AT TR Rt ferem o e Ram T ) wed e
forerea T ST 30 W9 UF & Y fU I ¢ SHUweIR! SR Ak ®, SHW fIU MU 3revH

TR, Tt i
(A) |help() (B) |fp.shutdown() | (C) [|wil =
(D) |fp.close() (E) |tell() (F) |unpickling
(G) |uppertolower() | (H) [swapcase (I) |readline()
() |stferem (K) |d® (L) |scanoneline()
(M) |e78

4.1 HE % STIHH % oo H Tk R G 1 Foema gfafafae

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

4.10

fafy sra.ffda qEem ' 9ol =1 v= =l 2§

Hestl & S ehH oM & faT, NumPy ¥ % 99&Y T HeRH
gferdt & s SRt T §

ol dfd o 9ed % 9. aane wied fefd Jegd e g

T fafyr € S AThde W wEd &) oadqq fefd 9 =i B

o YA v fedRuasiv % faw faan s ®

(1x10)

Y Hdl © S

fafy wft eTR g 9t &1 feu e g o el o oI s9e fauda ¥ aftafda

FHA 7, 3R T el <ot 7

ndarray !

1 ITN FRE Fed SiesiaRe (fp) 1 g T & foT A T

R 9 T g df ved e

T S w9 H off ST S ©
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Each

statement below has a blank space to fit one of the word(s) or phrase(s) in the list

below. Enter your choice in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
(A) |help() (B) |fp.shutdown() (C) |flow chart
(D) |fp.close() (E) |tell() (F) |unpickling
(G) |uppertolower() | (H) [swapcase (I) [|readline()
(J) [|alias (K) [seek (L) |scanoneline()
(M) |arrange
4.1 A graphical representation of a computer program in relation to its sequence of functions

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

4.10

method calls the built-in Python help system.

To create sequences of numbers, NumPy provides a function
range that returns arrays instead of lists.

analogous to

return the current file position after reading the first line.

is a method sets the file's current position at the offset.

is used for object deserialization.

method converts all uppercase characters to lowercase and vice versa of
the given string, and returns it.

ndarray is also known as the array.

is used to close a file object (fp).

reads one entire line from the file.
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T & / PART TWO

(T8l = wosil o ST S/

Answer any FOUR Questions)

5. (a)

T 1 91 379 § 7 U TR
it fodrard wen 82 < i quies den
% 9 I WIS o faT T Tenien
fod |

ey H fefas afd Redeq w1
31 §7 AT TH WeleH H SUH

IR o 91 AT |

What do you mean by an Algorithm ?
What are the characteristics of an
Algorithm ? Write an Algorithm to
find the factorial of given integer

number.

What do you mean by decision
making statements in python ?
Explain nested if statements with

suitable example. (7+8)

6. (a)

TR ¥ fae @R ouw = §7 faw

3R 29 & s 3R ford |

Srnf gfren § R S e
ST CAIRIUT T B W B2 UReH &
TATR AT & A oard 27R T T =t

ST IITELT ok H1Y SATEAT |

What is list and tuple in python ?
Give the differences between list and

tuple.

Why Python programming language
is becoming so popular in
programming world ? list the

applications of python and explain

any one with suitable example.
(7+8)
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e H numPy TSI shi SHREAT o |
T faaeor & uiw agfes dend
39 HH & fIU TH numPy I
ford |

o o o

frefafEa &t =amen = ;

(i) numPy T ST
(i) islower()
(iii) read()

(iv) umged it feswmd

(v) UEE H 3EM

Explain numPy library in python.
Write a numPy program to generate
five random numbers from the

normal distribution.

Explain the following :

(i)  broadcasting in numPy
(i) islower()

(iii) read()

Renfda wawm =1 aitam foad | gvmed
T Sl A 9 H Sge & fau
T Rerfda M ford |

oA ¥ U 2T HY oA €27 S
ST T Y T5 HY 1R e i
fgm W yeeiF = Td €

Define recursive function. Write a

recursive function to convert decimal
number to binary number.

How to create a string in Python ?
List and explain the operations

which can perform on strings.
(7+8)

frfeiea # | fer=dl 9 & 9N ¥ forg

(a)

(b)

(©)

(d)

TRYA H Ueh foiie 9 s dcl ol €2 &
fou we YR g fad |

U Hemsh &l ged @ & fau &
FAEE o0 |

T Wied i fawd st s gl |
YT A o foTT Tk uEeE T fad |
join(), isspace() i SUFH SR Ed
Y AT Y |

Attempt any three from the following :

(a)

Write a python program to remove
multiple elements from a list in
Python.

Draw a flowchart to find gcd of two
numbers.

Write a Python program to copy odd
lines of one file to other.

Explain join(), isspace() with suitable

example. (3x5)
(iv) dictionary in python
-00o0-
(v) Indentation in Python (5+10)
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